
1.6.1 Answers to Exercise.

1. (a) Comment.
The equality 1 · 0p = 0p is involved.

(b) Comment.
The equality 1 · 0p + 0 · u1 + 0 · u2 + · · ·+ 0 · uq = 0p is involved.

(c) Comment.
The equality β · αu− α · βu = 0p is involved.

(d) Comment.
The equality (−1)u+ 1 · v + 1 · (u− v) = 0p is involved.

(e) Comment.
The equality (−βγ)u+ (−αδ)βvαβ(γu+ δv) = 0p is involved.

(f) ——

2. ——
3. ——
4. ——

5. (a) ——

(b) i. A possible counter-example is provided by t =

[
−1/2
0
0

]
, u =

[
1
0
0

]
, v =

[
0
1
0

]
, w =

[
0
0
1

]
.

ii. ——
6. ——

7. (a) i. β1 = 2α1 + α2, β2 = α1 − α2 + α3, β3 = −3α1 + α3.
ii. ——

(b) i. u2 = u1 − v2 =
1

6
v1 −

1

3
v2 +

1

2
v3.

ii. ——

1


